O 7000 GeV pp Underlying Event
S e L B B Ry )
= B ead 13
£ u <N_>vs p'T (Nl <25, p_>0.1GeV) 4z
= °r B
5 = ATLAS 18
N — --O-- Herwig++ 2.5.2 default N
S 5  --3-- Herwig 7.2.1 default =
- —¥— Herwig 7.2.1 softTune —5
B @
- -2
- —x

4 I N

3 I N

2 I N

1 I N

2 T T U U U S S P AU S S

2 | =

0 — .

] 0O T T i

N L -

g 1 5

e R ARE i S SO ]

P RO

- CP’ E —

0.5 _

" 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |

0 S 10 15 20

P, (leading track) [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


